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1. REHUEE (I : pSv/h)
No. e B AT 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
1 2FL EYERT — 0.080 0.090 0.090 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.090 — — 0.090 0.090 0.090 0.090 0.090 — — 0.090 0.090 0.090 0.090 0.090 — — 0.080
2 2FL R—JL — 0.080 0.080 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070
3 2FL EVELER — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.070 0.070 0.070 0.060 0.060 — — 0.060 0.070 0.060 0.060 0.060 — — 0.060
4 2FL pHT—5NEE — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070
5 2FL FAL BB — 0.060 0.060 0.060 0.070 0.070 — — 0.070 0.070 0.060 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.080 — — 0.080 0.080 0.070 0.080 0.080 — — 0.070
6 1FL BT AIFERT — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.070 0.070 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
7 1FL ML ALEE — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.070 0.070 — — 0.070
8 1FL R EEEESE — 0.070 0.080 0.080 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070
9 3FL EVELER — 0.060 0.060 0.060 0.060 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
10 [3FL rALAETRE — 0.060 0.070 0.070 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.070 0.060 — — 0.060 0.070 0.070 0.070 0.060 — — 0.060
11 [4FL EVATERE — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.060 0.060 0.060 — — 0.060
12 [4FL FMLBIER — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.070 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
13 [5FL EVAIRE — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.070 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
14 |[5FL rALAETRE — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.080 0.070 0.070 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
15 [6FL EVAIRE — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
16 |6FL FALAIRE — 0.060 0.070 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060
17 [7FL EVAIBE — 0.060 0.060 0.060 0.060 0.070 — — 0.070 0.070 0.070 0.070 0.080 — — 0.080 0.070 0.070 0.070 0.060 — — 0.060 0.060 0.060 0.060 0.070 — — 0.070
18 [7FL FLBIER — 0.070 0.070 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.060 0.060 — — 0.060 0.060 0.070 0.070 0.060 — — 0.060 0.060 0.060 0.070 0.070 — — 0.070
19 [8FL HHE#mE — 0.090 0.090 0.090 0.090 0.10 — — 0.090 0.090 0.090 0.10 0.10 — — 0.10 0.10 0.10 0.090 0.090 — — 0.090 0.090 0.10 0.10 0.10 — — 0.090
20 |[8FL A& — 0.090 0.090 0.090 0.090 0.090 — — 0.10 0.10 0.10 0.10 0.090 — — 0.090 0.090 0.090 0.090 0.090 — — 0.090 0.090 0.090 0.090 0.090 — — 0.090

2. AS7HE (B Ba.”cm?)
No. BITEIS A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
1 2FL BEVYET — <2.1E-01 | <2.1E-01 | <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01| <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01| <2.1E-01 ] <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01] <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01
2 2FL R—IL — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01
3 2FL EVEDLER — <2.1E-01 [ <2.1E-01[ <2.1E-01[ <2.1E-01[ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<21E-01
4 2FL ST —2NEE — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —  [<2.1E-01
5 2FL FAL L@ — <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<21E-01
6 1FL @R EaAIFERT — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —  [<2.1E-01
7 1FL kL ELEE — <2.1E-01 ] <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<21E-01
8 1FL RETEEEa s — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01
9 3FL EVATAR — <2.1E-01 [ <2.1E-01[ <2.1E-01] <2.1E-01[ <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<21E-01
10 |3FL hAL AR — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —  [<2.1E-01
11 [4FL EVATER — <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<21E-01
12 |4FL hALETRRE — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01
13 |5FL EVATEE — <2.1E-01 | <2.1E-01 [ <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01[ <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 [ <2.1E-01 — —  [<21E-01
14 [5FL FLBIER — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —  [<2.1E-01
15 |6FL EVAIEE — <2.1E-01 | <2.1E-01 [ <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01[ <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 [ <2.1E-01 — —  [<21E-01
16 [6FL FLBIER — <2.1E-01 ] <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01] <2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —  [<2.1E-01
17 |7FL EVATEE — <2.1E-01 | <2.1E-01 [ <2.1E-01 [ <2.1E-01 | <2.1E-01 — —  [<2.1E-01[<2.1E-01[ <2.1E-01 [ <2.1E-01 [ <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01[<2.1E-01[ <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 [ <2.1E-01 — —  [<21E-01
18 [7FL FLBIER — <2.1E-01 ] <2.1E-01 | <2.1E-01 [ <2.1E-01 ] <2.1E-01 — —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01
19 [8FL HHEHWE — <2.1E-01 [ <2.1E-01[ <2.1E-01[ <2.1E-01[ <2.1E-01 — —  [<2.1E-01[<2.1E-01]<2.1E-01 [ <2.1E-01 [ <2.1E-01 — — [ <2.1E-01[<2.1E-01] <2.1E-01[<2.1E-01[ <2.1E-01 — —  [<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 [ <2.1E-01 — —  [<21E-01
20 |[8FL A& — <2.1E-01] <2.1E-01 <2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01] <2.1E-01[ <2.1E-01[ <2.1E-01] <2.1E-01 — — | <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — — [ <2.1E-01] <2.1E-01[ <2.1E-01] <2.1E-01 | <2.1E-01 — — | <2.1E-01
21 | REMREERRABIZERTER £ — <6.8E-01 | <6.8E-01 | <6.8E-01[ <6.8E-01 | <6.8E-01 [ <6.8E-01 — | <6.8E-01] <6.8E-01 [ <6.8E-01| <6.8E-01 | <6.8E-01 | <6.8E-01 — | <6.8E-01 [ <6.8E-01 [ <6.7E-01| <6.7E-01 [ <6.7E-01 | <6.7E-01 — | <6.7E-01 <6.7E-01 [ <6.7E-01] <6.7E-01 [ <6.7E-01 [ <6.7E-01 — | <6.7E-01
22x | REUABERRARMIZERIT—DLH  — <6.7E-01] <6.7E-01 <6.7E-01] <6.7E-01] <6.7E-01 [ <6.7E-01 — | <6.7E-01] <6.7E-01 <6.7E-01] <6.7E-01 <6.7E-01 [ <6.7E-01 — | <6.7E-01] <6.7E-01[ <6.7E-01] <6.7E-01 | <6.7E-01 ] <6.7E-01 — | <6.7E-01] <6.7E-01[ <6.7E-01] <6.7E-01 | <6.7E-01 [ <6.7E-01 — | <6.7E-01
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3. BEtEMERE (B : Ba/cm”)
No. BIE IS AT 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
1 1FL #0 — <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <49E-06| — — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06] — — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 [ <4.9E-06] — — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06] — — | <4.9E-06
2 1FL EEO — <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <49E-06| — — | <4.9E-06 | <4.9E-06 [ <4.9E-06 | <4.9E-06 | <49E-06 — — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06| — — | <4.9E-06 | <4.9E-06 [ <4.9E-06 | <4.9E-06 | <4.9E-06| — — | <4.9E-06

=

4. REHRE (B mSv)
No. AIE IS 1185811812811 8198 [11 8268 No. B 5E 35 A 11858 (118128115198 |11 H26H
1 1FL EEH(BF) 0.010 0.010 0.010 0.010 19 |4FL Bl GFEHEVAD 0.011 0.011 0.011 0.011
2 1FL BAOGEEVRATLE) 0.013 0.013 0.014 0.013 20 |5FL FEmIA(EBTF) 0.010 0.010 0.010 0.010
3 1FL JtO0(WBCE) 0.012 0.012 0.012 0.012 21 [5FL JtRI(REE) 0.008 0.008 0.008 0.008
4 1FL @O (BTF) 0.008 0.008 0.008 0.008 22 [5FL AEIAEE) 0.011 0.011 0.011 0.011
5 1FL FafAl (JEE FREVAD) 0.011 0.011 0.010 0.011 23 |5FL FEfAl (JEE FREVAD 0.011 0.011 0.011 0.011
6 2FL HEEIO (EBTF) 0.010 0.010 0.010 0.010 24 |6FL FEmIO(EETF) 0.008 0.008 0.008 0.008
7 2FL JLBI(EHBEEZETUT) 0.012 0.012 0.012 0.012 25 |6FL JLBI(REE) 0.008 0.008 0.008 0.008
3 2FL BmEI(EEEZT7) 0.013 0.013 0.013 0.013 26 |6FL AEIAEE) 0.012 0.012 0.012 0.012
9 2FL mfAl GEE FAEVED) 0.011 0.011 0.011 0.011 27 |6FL FEfll (JEE FREVAD 0.011 0.011 0.011 0.010
10 [2FL BYEST A 0.011 0.011 0.011 0.011 28 |7FL EEAO(ERT) 0.010 0.010 0.010 0.010
11 [2FL EBYET #EAl 0.011 0.011 0.011 0.011 29 |7FL HEE 0.016 0.016 0.016 0.016
12 |3FL FEEO(EBBTF) 0.009 0.009 0.009 0.009 30 |7FL JERE(KREE) 0.009 0.009 0.009 0.009
13 |3FL JLfl(B=) 0.012 0.011 0.011 0.011 31 |7FL ARI(REE) 0.011 0.011 0.011 0.011
14 |3FL FAEN(BE) 0.012 0.012 0.012 0.012 32 |7FL mBIGFEREVAD 0.013 0.013 0.013 0.013
15 |3FL mafl (GEEFHEVED 0.009 0.010 0.009 0.009 33 |8FL mmHd 0.013 0.012 0.012 0.013
16 [4FL FEEO(BBTF) 0.009 0.009 0.009 0.009 34 |SFL Jtfl 0.015 0.015 0.015 0.015
17 [4FL dEEIURER) 0.008 0.008 0.008 0.008 35 |SFL mafl 0.013 0.012 0.012 0.013 X10/8 12:00~2FL Al EIDR %Ki —BHARRR LY,
18 |4FL FEEIGAEE) 0.011 0.011 0.011 0.011 36 |S8FL mfl 0.016 0.015 0.015 0.015 10/155 EYUNo 6E B E{E . No.37£ R GBI &3 5
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